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Why am | getting the message that rebar is

insufficient when reinforcing zone definition indicates
reinforcement is sufficient? (calc note also displays

the warning although in the reqd vs prov. rebar
section the provided is more than required). Is this

because these nodes are outliers and can be ignored

due to the ability of concrete to distribute forces?
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or top reinforcement in the direction of ¥ axis at the point: a, ArAL = < 1.

For bottom reinforcement in the direction of ¥ axis at the point: (2.50, 0.28) ArlAt=072<1.0

For bottom reinforcement in the direction of ¥ axig at the point: (2.50, 0.86} ArlAt=072<1.0

Too little top reinforcement area

Too little bottom reinforcement area
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The concrete strength does not fulfill the code requirements concerning the exposure class:
28 MPa = 30 MPa - E.162).
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For top reinforcement in the direction of X axis at the point: (2.530, 0.29) ArfAt =063 <1.0
For top reinforcement in the direction of X axis at the point: (2.50, 0.86) ArAt=06%<1.0
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Why am I getting the message that rebar is insufficient when reinforcing zone definition indicates reinforcement is sufficient? (calc note also displays the warning although in the reqd vs prov. rebar section the provided is more than required).  Is this because these nodes are outliers and can be ignored due to the ability of concrete to distribute forces?




